Question 1: Work out the answers to the following additions
(a)4.5 + 2.3 (b) 84 +1.7 (c) 0.7+0.5 (d) 28+10.3
(e) 13.4 + 289 (f) 206.2+72.8 (g) 6.4+ 159 (h) 0.5+ 0.8+ 0.1

(i) 9.7+14+1.3 (i) 16.8+3.9+102.2 +87.4

Question 2: Work out these additions
(a) 0.14 + 0.53 (b) 0.35+ 0.65 (c) 2.47 + 3.34 (d) 4.93 + 2.25
(e) 4.77 + 1.84 (f) 10.38 + 6.81 (g) 783 +12.49 (h) 0.56 +107.08

(i) 9.85 +2.63 + 0.89 (j) 0.08 +0.12 + 0.87 + 1.93 + 2.06

[ Apply )

Question 1: Richard buys a notebook that costs £6.78 and a pen that costs £4.19.
Work out the total cost.

Question 2:  Holly is saving money.
In January, she saves £15.15 NS
In February, she saves £8.82 5y
In March, Holly saves £13.37 \\
Work out how much she has saved in total. e @



Question 3: David drives 4.8 miles to Bristol and a further 6.7 miles to Bath.
Work out how far he drives in total.

Question 4: Mr Jenkins has three pieces of rope.
The pieces of rope are 2.35m, 1.8m and 3.06m long.
Work out the total length of the pieces of rope.

Question 5:  Shown is a rectangle. 11.26¢cm
Calculate the perimeter. 5.6cm

Question 6:  Work out the missing number.

-528=109







